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I BB BITE ISP Kz BIFEFEE (U Sv/h)
9H18H ik 1m 0.087
16:08 ~ B/t =l #h_E50cm 0.082
16:12 #h_F10cm 0.075
9H18H #hF1m 0.082
1545 ~ Ft ER/INVER =) #h_F50cm 0.091
15:49 #h_F10cm 0.082
9H18H ik 1m 0.084
15:23 ~ EHINERR £ #h_F50cm 0.095
15:27 #h_F10cm 0.091
9H18H #hF1m 0.084
15:08 ~ BRI =) #h_F50cm 0.100
15:12 #h_F10cm 0.093
9H18H ik 1m 0.100
10:58 ~ 1130 B /N =l #h_E50cm 0.111
11:02 #h_F10cm 0.113
9H18H #hF1m 0.091
1453 ~ LR =) #h_F50cm 0.109
14:57 #h_F10cm 0.107
9H18H #hF1m 0.089
9:43 ~ BRI £ #h_F 50cm 0.095
9:47 #h_F10cm 0.095
9H18H #hF1m 0.073
10:03 ~ EEBIINER =) #h_F50cm 0.075
10:07 #h_F10cm 0.075
9H18H #hF1m 0.093
932 ~ EMRNERL =) #h_F50cm 0.091
9:36 #h_F10cm 0.087
9H18H #hF1m 0.075
10:15 ~ oL/ £ #h_F 50cm 0.082
10:19 #h_F10cm 0.075
9H18H #hF1m 0.084
9:08 ~ N £1) #h_F50cm 0.087
9:12 #h_F10cm 0.089
9H18H #hF1m 0.091
1044 ~ B NERR £1) #h_F50cm 0.084
10:48 #h_F10cm 0.078
9H18H #hF1m 0.091
10:34 ~ TR/ NS £ #b_F50cm 0.102
10:38 #h_F10cm 0.095
9H18H #hF1m 0.098
11:16 ~ ININERR £ #b_F50cm 0.095
11:20 #h_F10cm 0.091
9H18H #hF1m 0.082
11:27 ~ =ZHE/NFER =) #h_F 50cm 0.082
11:31 #h_F10cm 0.082
9H18H #hF1m 0.080
11:36 ~ AR A EY INERL =) #h_F50cm 0.082
11:40 #h_F10cm 0.093
9H18H #hF1m 0.144
1305 ~ RN £1) #h_F 50cm 0.151
13:09 #h_F10cm 0.167
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BIE B E B E IS5 X% BIFEHE R (uSv/h)

9H18H HhF1m 0.120
13:34 ~ 1B FFET VR =l #h_E50cm 0.122
13:38 #h_F 10cm 0.120
9H18H #hF1m 0.075
1401 ~ SAIFECEINER =l #h_F50cm 0.084
14:05 #h_F 10cm 0.084
9H18H #h F1m 0.073
14:15 ~ IAIFEILINERR =l #h_F50cm 0.075
14:19 #h_F 10cm 0.071
9H18H #hF1m 0.078
15:55 ~ F EFE— PR =l #h_F 50cm 0.089
15:59 #h_F 10cm 0.087
9H18H #h F1m 0.069
11.08 ~ Ft LR ER =l #h_F 50cm 0.069
11:12 #h_F 10cm 0.071
9H18H #hF1m 0.087
1530 ~ iR =D #h_F50cm 0.091
15:34 #h_F 10cm 0.084
9H18H #hF1m 0.095
5:58 ~ TR =l #b_F50cm 0.107
9:57 #h_F 10cm 0.095
9H18H #hF1m 0.082
10:23 ~ SRR AR =D #h_F 50cm 0.084
10:27 #h_F 10cm 0.078
98 18H #h_E1m 0.098
919 ~ ik osleeleak sy =D #h_F 50cm 0.102
9:23 #h_F 10cm 0.089
9H18H #F1m 0.091
13.05 ~ A H PR =D #h_F50cm 0.087
13:09 #h_F 10cm 0.080
98 18H #h_E1m 0.084
14:13 ~ ITB[A==)=a 53 =l #b_F50cm 0.093
14:17 #h_F 10cm 0.091




